[GWCTF 2019]xxor-buuctf

LeOnard404 o T 2022-03-14 18:25:09 % i o 4607 *’ A5

sy CTRRE (MU v hrdy: dniE 5 R % 229

WA B s ASONT R AN SCEE, 181 CC 4.0 BY-SA FRBUIMI, #5351 b b R ST H Ab B fe FI AR 75 B o
ARSCHEFE: https://blog.csdn.net/enard404/article/details/123480584

AL

E CTF4E H it LRI iZ N 25
8 i 0117

PR

buuctffii 8 5%

Exeinfo PE - ver.0.0.5.6 by A.S.L - 1044+78 sign 2019.04.10 — X
L y g
oy i L X
[ . & e ] -
fle: | mor : el [&
Entry Point : (00400590 | [oo] | < il
y Fleofet: o] | Pug
€ o
Fle Sae: (<[] Q|
| f=—1
Diagnose: | =
[NOT Win EXE - .0 - E.Fexemtable[mtob] Exe fle -CPU: AMD 38! 'scan/t| | R [
Lamer Info - Help Hint - Unpack info , R A0 TS L e
| -> Compiler : GCC: l'l.hmh.lS*!O-ﬁ.bLmh.ll*vlﬁJtﬂH 11) 5.4.0 201696 J@QEEJUH,M:@L ]
A5
6417 755%
il
IDA 5 Zhi PEmainif

puts(”Let us play a game?");
puts(“you have six chances to input");
puts(“Come on!");
vo[@] = eLL;
vo[1l] = eLL;
vo[2] = 8LL;
vo[3] = 8LL;
vo[4] = 8LL;
for (1 =0; 1 <=5; ++1 )
{
printf("%s", "input: ");
= {char **)}({char *)vb6 + 4 * i});
_1s50c99 scanf("%d", =22);

¥
v7[@] = 8LL;
v7[1] = @8LL;
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V/iLZ] = WLL;
v7[3] = 8LL;
v7/[4] = 8LL;
for (3 =8; J<=2; ++7 )

{
dword_ 601878 = va[i];
dword 60187C = HIDWORD(vG[]1]);
a2 = (char **)&unk_ 601068 ;
sub_ 480686 (&dword 6010878, &unk 601068);
LODWORD(v7[i]) = dword 6@1078;
HIDWORD(v7[]]) = dword 60187C;
¥
if ( (unsigned int)sub_4@e77a(v7, a2) 1= 1)
{
puts("NO NO NO~ ");
exit(@);
¥

puts("Congratulation!\n"); LoD @Llebnard4ba
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& & sub_400770

| int64  fastcall sub_400770( DWORD *al)

{
__int64d result; [/ rax

if ( al[2] - al[3] == ©x84A236FFLL
&& a1[3] + al[4] == OxFAGCB7@3LL
&& al[2] - al[4] == @x42D731ASLL
&& *al == OxDFASEF7E
&& al[5] == OxB84F30420
&& al[1l] == Ox20CAACF4 )

puts(“good!");
result = 1LL;
¥

else

{
puts("Wrong!"};
result = BLL;

¥

return result;
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from z3 import
S IntVector( ,6)
Solver()

.add(s[9] oxdf48ef7e)
.add(s[2]-s[3] 0x84a236ff)
.add(s[3]+s[4] Oxfabcb703)
.add(s[2]-s[4] 0x42d731a8)
.add(s[5] 0x84130420)
.add(s[1] Ox20caacf4)

if solver.check() sat:
m solver.model()
for i in s:

flag.append(m[i])

print(flag)

[3746099070,
550153460,
3774025685,

E)

E)

]
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| _int64 _ fastcall sub_4080686(unsigned int *al, _DWORD *a2)
{
__inte4 result; // rax
unsigned int v3; // [rsp+1Ch] [rbp-24h]
unsigned int v4; // [rsp+20h] [rbp-26h]
int v5; // [rsp+24h] [rbp-1Ch]
unsigned int i; // [rsp+28h] [rbp-18h]

v3i = *al;

vd = al[1];

vs = 8;

for (1 =0; 1 <= Bx3F; ++1 )

{

V5 += 1166789954 |
vi 4= (v4 + w5 + 11) ~ ((vd << 6) + *Fa2) ~ ((v4d »>> 9) + aZ2[1]) ™ @x20;
vAd 4= (v3 + w5 + 20) ~ ((v3 << 6) + aZ2[2]) ™ ((v2 »>> 9) + a2[3]) ™ exle;

¥
*al = v3;
result = vd;
al[1l] = v4;
return result;
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data:0000000000601060 unk_601060 db 2
data:0000000000601061 db 4]
data:0000000000601062 db 4]
data:0000000000601063 db 4]
data:0000000000601064 db 2
data:0000000000601065 db 4]
data:0000000000601066 db 4]
data:0000000000601067 db 4]
data:0000000000601068 db 3
data:0000000000601069 db 4]
data:000000000060106A db 4]
data:0000000000601068 db 4]
data:000000000060106C db 4
data:000000000060106D db 4]
data:000000000060106E db 4]
data:000000000060106F db 4]
data:000000000060106F _data endsDN @LeOnard404
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ttinclude <iostream>
using namespace std;

int main()
{
__int64 a[6] = { 3746099070, 550153460, 3774025685, 1548802262, 2652626477, 2230518816 };
unsigned int a2[4] = { 2,2,3,4 };
unsigned int v3, v4;
int v5;
for (int j = 0; j <=4; j += 2) {
v3 = a[jl;
v4 a[j + 1];
v5 1166789954*0x40;
for (int i = 0; i <= Ox3F; ++i) {

v4d -= (v3 + V5 + 20) N ((v3 << 6) + a2[2]) ~ ((v3 >> 9) + a2[3]) " ox10;
v3 -= (v4 + v5 + 11) ~ ((v4 << 6) + *a2) ~ ((v4 >> 9) + a2[1]) " 0x20;
v5 -= 1166789954;

¥
a[j] = v3;
a[j + 1] = v4;
}
///NER
for (int 1 = 0; 1 < 6; ++i) {
cout << *((char*)&a[i] + 2) << *((char*)&[i] + 1) << * ((char*)&a[i]);
}

return 0;

2 %flag
flag{re_is_great!}
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